

Data for: 01/12/2026 05:00:00 to 01/26/2026 04:59:59

QR Ordering		Pay Rate	Hours	Total
Job Title		Total	0.00	\$0.00
Sales: \$0.00	Claimed Tips			\$0.00
Tips: \$0.00	Gratuity			\$0.00
	Grand Total			\$0.00
	Avg Payrate			\$0.00
<b>Adler, Merritt</b>				
Job Title		Pay Rate	Hours	Total
OC - Utility	\$8.00	33.80		\$270.44
	Total	33.80		\$270.44
Sales: \$0.00	Claimed Tips			\$0.00
Tips: \$0.00	Gratuity			\$0.00
	Grand Total			\$270.44
	Avg Payrate			\$8.00
<b>Baehl, Nick</b>				
Job Title		Pay Rate	Hours	Total
OC - Dishwasher	\$9.00	29.09		\$261.82
	Total	29.09		\$261.82
Sales: \$0.00	Claimed Tips			\$0.00
Tips: \$0.00	Gratuity			\$0.00
	Grand Total			\$261.82
	Avg Payrate			\$9.00
<b>Bilderback, Haley</b>				
Job Title		Pay Rate	Hours	Total
OC - Cook	\$15.00	53.65		\$804.72
	Total	53.65		\$804.72
Sales: \$0.00	Claimed Tips			\$0.00
Tips: \$0.00	Gratuity			\$0.00
	Grand Total			\$804.72
	Avg Payrate			\$15.00
<b>Bullock, Whitney</b>				
Job Title		Pay Rate	Hours	Total
OC - Server	\$6.00	3.98		\$23.91
	Total	3.98		\$23.91
Sales: \$198.06	Claimed Tips			\$0.00
Tips: \$20.50	Gratuity			\$0.00
	Grand Total			\$44.41
	Avg Payrate			\$11.14
<b>Busch, Rebecca</b>				
Job Title		Pay Rate	Hours	Total
OC - Bartender	\$10.00	17.41		\$174.12
	Total	17.41		\$174.12
Sales: \$1,449.44	Claimed Tips			\$0.00
Tips: \$143.00	Gratuity			\$0.00
	Grand Total			\$317.12
	Avg Payrate			\$18.21
<b>Catt, Jami</b>				
Job Title		Pay Rate	Hours	Total
OC - Server	\$6.00	29.61		\$177.66
	Total	29.61		\$177.66
Sales: \$3,302.36	Claimed Tips			\$0.00
Tips: \$321.63	Gratuity			\$0.00
	Grand Total			\$499.29
	Avg Payrate			\$16.86
<b>Cecil, Lanee</b>				
Job Title		Pay Rate	Hours	Total
OC - Utility	\$8.00	11.31		\$90.44
	Total	11.31		\$90.44
Sales: \$0.00	Claimed Tips			\$0.00
Tips: \$0.00	Gratuity			\$0.00
	Grand Total			\$90.44
	Avg Payrate			\$8.00
<b>Collins, Austin</b>				
Job Title		Pay Rate	Hours	Total
OC - Cook	\$18.00	60.76		\$1,093.74
	Total	60.76		\$1,093.74
Sales: \$0.00	Claimed Tips			\$0.00
Tips: \$0.00	Gratuity			\$0.00
	Grand Total			\$1,093.74
	Avg Payrate			\$18.00
<b>Devillez, Robert</b>				
Job Title		Pay Rate	Hours	Total
OC - Cook	\$19.00	69.49		\$1,320.26
OC - Cook - OT	\$28.50	3.66		\$104.29
	Total	73.15		\$1,424.55
Sales: \$0.00	Claimed Tips			\$0.00
Tips: \$0.00	Gratuity			\$0.00
	Grand Total			\$1,424.55
	Avg Payrate			\$19.48
<b>Doerner, Hannah</b>				
Job Title		Pay Rate	Hours	Total
OC - Utility	\$8.00	26.23		\$209.82
	Total	26.23		\$209.82
Sales: \$0.00	Claimed Tips			\$0.00
Tips: \$0.00	Gratuity			\$0.00
	Grand Total			\$209.82
	Avg Payrate			\$8.00
<b>Franklin, Sydney</b>				
Job Title		Pay Rate	Hours	Total
OC - Server	\$0.00	10.59		\$0.00

<b>Sales: \$1,832.33</b>	<b>Claimed Tips</b>	<b>10.59</b>	<b>\$0.00</b>
<b>Tips: \$151.32</b>	<b>Gratuity</b>		<b>\$0.00</b>
	<b>Grand Total</b>		<b>\$151.32</b>
	<b>Avg Payrate</b>		<b>\$14.29</b>
<b>Garris, Alyssa</b>			
<b>Job Title</b>	<b>Pay Rate</b>	<b>Hours</b>	<b>Total</b>
OC - Bartender	\$10.00	29.76	\$297.64
OC - Server	\$6.00	19.14	\$114.84
	<b>Total</b>	<b>48.90</b>	<b>\$412.47</b>
<b>Sales: \$3,915.69</b>	<b>Claimed Tips</b>		<b>\$0.00</b>
<b>Tips: \$330.88</b>	<b>Gratuity</b>		<b>\$0.00</b>
	<b>Grand Total</b>		<b>\$743.35</b>
	<b>Avg Payrate</b>		<b>\$15.20</b>
<b>Gilles, Mitchell</b>			
<b>Job Title</b>	<b>Pay Rate</b>	<b>Hours</b>	<b>Total</b>
OC - Server	\$6.00	10.98	\$65.88
	<b>Total</b>	<b>10.98</b>	<b>\$65.88</b>
<b>Sales: \$1,093.77</b>	<b>Claimed Tips</b>		<b>\$0.00</b>
<b>Tips: \$56.00</b>	<b>Gratuity</b>		<b>\$0.00</b>
	<b>Grand Total</b>		<b>\$121.88</b>
	<b>Avg Payrate</b>		<b>\$11.10</b>
<b>Gries, Jessica</b>			
<b>Job Title</b>	<b>Pay Rate</b>	<b>Hours</b>	<b>Total</b>
OC - Bartender	\$10.00	18.88	\$188.80
	<b>Total</b>	<b>18.88</b>	<b>\$188.80</b>
<b>Sales: \$1,705.43</b>	<b>Claimed Tips</b>		<b>\$0.00</b>
<b>Tips: \$118.47</b>	<b>Gratuity</b>		<b>\$0.00</b>
	<b>Grand Total</b>		<b>\$307.27</b>
	<b>Avg Payrate</b>		<b>\$16.27</b>
<b>Hill, Ashtinne</b>			
<b>Job Title</b>	<b>Pay Rate</b>	<b>Hours</b>	<b>Total</b>
OC - Server	\$6.00	49.44	\$296.66
	<b>Total</b>	<b>49.44</b>	<b>\$296.66</b>
<b>Sales: \$4,199.82</b>	<b>Claimed Tips</b>		<b>\$0.00</b>
<b>Tips: \$353.02</b>	<b>Gratuity</b>		<b>\$0.00</b>
	<b>Grand Total</b>		<b>\$649.68</b>
	<b>Avg Payrate</b>		<b>\$13.14</b>
<b>Jones, Carolione</b>			
<b>Job Title</b>	<b>Pay Rate</b>	<b>Hours</b>	<b>Total</b>
OC - Server	\$6.00	22.61	\$135.66
	<b>Total</b>	<b>22.61</b>	<b>\$135.66</b>
<b>Sales: \$3,056.68</b>	<b>Claimed Tips</b>		<b>\$0.00</b>
<b>Tips: \$392.97</b>	<b>Gratuity</b>		<b>\$0.00</b>
	<b>Grand Total</b>		<b>\$528.63</b>
	<b>Avg Payrate</b>		<b>\$23.38</b>
<b>Kent, Angie</b>			
<b>Job Title</b>	<b>Pay Rate</b>	<b>Hours</b>	<b>Total</b>
	<b>Total</b>	<b>0.00</b>	<b>\$0.00</b>
<b>Sales: \$0.00</b>	<b>Claimed Tips</b>		<b>\$0.00</b>
<b>Tips: \$0.00</b>	<b>Gratuity</b>		<b>\$0.00</b>
	<b>Grand Total</b>		<b>\$0.00</b>
	<b>Avg Payrate</b>		<b>\$0.00</b>
<b>Kiesel, Allie</b>			
<b>Job Title</b>	<b>Pay Rate</b>	<b>Hours</b>	<b>Total</b>
OC - General Manager	\$20.00	77.59	\$1,551.85
OC - General Manager - OT	\$30.00	7.73	\$231.98
	<b>Total</b>	<b>85.33</b>	<b>\$1,783.83</b>
<b>Sales: \$5,828.85</b>	<b>Claimed Tips</b>		<b>\$0.00</b>
<b>Tips: \$698.08</b>	<b>Gratuity</b>		<b>\$0.00</b>
	<b>Grand Total</b>		<b>\$2,481.91</b>
	<b>Avg Payrate</b>		<b>\$29.09</b>
<b>Lee, Debbie</b>			
<b>Job Title</b>	<b>Pay Rate</b>	<b>Hours</b>	<b>Total</b>
OC - Cook	\$19.00	60.44	\$1,148.40
	<b>Total</b>	<b>60.44</b>	<b>\$1,148.40</b>
<b>Sales: \$0.00</b>	<b>Claimed Tips</b>		<b>\$0.00</b>
<b>Tips: \$0.00</b>	<b>Gratuity</b>		<b>\$0.00</b>
	<b>Grand Total</b>		<b>\$1,148.40</b>
	<b>Avg Payrate</b>		<b>\$19.00</b>
<b>Martin, Alissa</b>			
<b>Job Title</b>	<b>Pay Rate</b>	<b>Hours</b>	<b>Total</b>
	<b>Total</b>	<b>0.00</b>	<b>\$0.00</b>
<b>Sales: \$0.00</b>	<b>Claimed Tips</b>		<b>\$0.00</b>
<b>Tips: \$0.00</b>	<b>Gratuity</b>		<b>\$0.00</b>
	<b>Grand Total</b>		<b>\$0.00</b>
	<b>Avg Payrate</b>		<b>\$0.00</b>
<b>Meeks, Rhiannon</b>			
<b>Job Title</b>	<b>Pay Rate</b>	<b>Hours</b>	<b>Total</b>
OC - Server	\$6.00	18.19	\$109.13
	<b>Total</b>	<b>18.19</b>	<b>\$109.13</b>
<b>Sales: \$1,329.36</b>	<b>Claimed Tips</b>		<b>\$0.00</b>
<b>Tips: \$69.31</b>	<b>Gratuity</b>		<b>\$0.00</b>
	<b>Grand Total</b>		<b>\$178.44</b>
	<b>Avg Payrate</b>		<b>\$9.81</b>
<b>Michael, Hanna</b>			
<b>Job Title</b>	<b>Pay Rate</b>	<b>Hours</b>	<b>Total</b>
	<b>Total</b>	<b>0.00</b>	<b>\$0.00</b>
<b>Sales: \$0.00</b>	<b>Claimed Tips</b>		<b>\$0.00</b>
<b>Tips: \$0.00</b>	<b>Gratuity</b>		<b>\$0.00</b>
	<b>Grand Total</b>		<b>\$0.00</b>
	<b>Avg Payrate</b>		<b>\$0.00</b>
<b>Michael, Hanna</b>			
<b>Job Title</b>	<b>Pay Rate</b>	<b>Hours</b>	<b>Total</b>
OC - Server	\$6.00	31.81	\$190.84

OC - Bartender	\$10.00	22.33	\$223.31
	<b>Total</b>	<b>54.14</b>	<b>\$414.15</b>
Sales: \$5,689.65	Claimed Tips	\$0.00	
Tips: \$452.14	Gratuity	\$0.00	
	Grand Total	\$866.29	
	Avg Payrate	\$16.00	
<b>Montooth, Hayden</b>			
Job Title	Pay Rate	Hours	Total
OC - Dishwasher	\$9.00	10.12	\$91.08
	<b>Total</b>	<b>10.12</b>	<b>\$91.08</b>
Sales: \$0.00	Claimed Tips	\$0.00	
Tips: \$0.00	Gratuity	\$0.00	
	Grand Total	\$91.08	
	Avg Payrate	\$9.00	
<b>Pillow, Joe</b>			
Job Title	Pay Rate	Hours	Total
OC - Cook	\$14.00	61.41	\$859.67
	<b>Total</b>	<b>61.41</b>	<b>\$859.67</b>
Sales: \$0.00	Claimed Tips	\$0.00	
Tips: \$0.00	Gratuity	\$0.00	
	Grand Total	\$859.67	
	Avg Payrate	\$14.00	
<b>Pillow, Matt</b>			
Job Title	Pay Rate	Hours	Total
	<b>Total</b>	<b>0.00</b>	<b>\$0.00</b>
Sales: \$0.00	Claimed Tips	\$0.00	
Tips: \$0.00	Gratuity	\$0.00	
	Grand Total	\$0.00	
	Avg Payrate	\$0.00	
<b>Pillow, Stacy</b>			
Job Title	Pay Rate	Hours	Total
OC - Server	\$6.00	30.15	\$180.91
	<b>Total</b>	<b>30.15</b>	<b>\$180.91</b>
Sales: \$1,559.98	Claimed Tips	\$0.00	
Tips: \$114.50	Gratuity	\$0.00	
	Grand Total	\$295.41	
	Avg Payrate	\$9.80	
<b>Reker, Allison</b>			
Job Title	Pay Rate	Hours	Total
OC - Bartender	\$10.00	6.52	\$65.18
	<b>Total</b>	<b>6.52</b>	<b>\$65.18</b>
Sales: \$838.51	Claimed Tips	\$0.00	
Tips: \$107.00	Gratuity	\$0.00	
	Grand Total	\$172.18	
	Avg Payrate	\$26.42	
<b>Rentchler, Makayla</b>			
Job Title	Pay Rate	Hours	Total
OC - Utility	\$8.00	17.75	\$141.97
	<b>Total</b>	<b>17.75</b>	<b>\$141.97</b>
Sales: \$0.00	Claimed Tips	\$0.00	
Tips: \$0.00	Gratuity	\$0.00	
	Grand Total	\$141.97	
	Avg Payrate	\$8.00	
<b>Romain, Andrea</b>			
Job Title	Pay Rate	Hours	Total
OC - Server	\$6.00	13.15	\$78.91
	<b>Total</b>	<b>13.15</b>	<b>\$78.91</b>
Sales: \$1,668.05	Claimed Tips	\$0.00	
Tips: \$149.90	Gratuity	\$0.00	
	Grand Total	\$228.81	
	Avg Payrate	\$17.40	
<b>Scherer, Laney</b>			
Job Title	Pay Rate	Hours	Total
OC - Utility	\$8.00	10.24	\$81.95
	<b>Total</b>	<b>10.24</b>	<b>\$81.95</b>
Sales: \$0.00	Claimed Tips	\$0.00	
Tips: \$0.00	Gratuity	\$0.00	
	Grand Total	\$81.95	
	Avg Payrate	\$8.00	
<b>Schlumpf, Lexi</b>			
Job Title	Pay Rate	Hours	Total
OC - Server	\$6.00	2.92	\$17.52
	<b>Total</b>	<b>2.92</b>	<b>\$17.52</b>
Sales: \$43.01	Claimed Tips	\$0.00	
Tips: \$0.00	Gratuity	\$0.00	
	Grand Total	\$17.52	
	Avg Payrate	\$6.00	
<b>Schmitt, Amanda</b>			
Job Title	Pay Rate	Hours	Total
OC - Server	\$0.00	18.06	\$0.00
	<b>Total</b>	<b>18.06</b>	<b>\$0.00</b>
Sales: \$1,695.33	Claimed Tips	\$0.00	
Tips: \$174.37	Gratuity	\$0.00	
	Grand Total	\$174.37	
	Avg Payrate	\$9.66	
<b>Siebers, Lillian</b>			
Job Title	Pay Rate	Hours	Total
OC - Server	\$6.00	19.46	\$116.74
	<b>Total</b>	<b>19.46</b>	<b>\$116.74</b>
Sales: \$1,770.01	Claimed Tips	\$0.00	
Tips: \$115.36	Gratuity	\$0.00	
	Grand Total	\$232.10	
	Avg Payrate	\$11.93	
<b>Sims, Jessica</b>			
Job Title	Pay Rate	Hours	Total

OC - Server	\$6.00	15.13	\$90.81			
<b>Sales: \$1,997.72</b>	<b>Claimed Tips</b>	<b>\$0.00</b>				
<b>Tips: \$229.04</b>	<b>Gratuity</b>	<b>\$0.00</b>				
	<b>Grand Total</b>	<b>\$319.85</b>				
	<b>Avg Payrate</b>	<b>\$21.13</b>				
<b>Sims, Riley</b>						
<b>Job Title</b>	<b>Pay Rate</b>	<b>Hours</b>	<b>Total</b>			
OC - Dishwasher	\$8.00	11.94	\$95.50			
	<b>Total</b>	<b>11.94</b>	<b>\$95.50</b>			
<b>Sales: \$0.00</b>	<b>Claimed Tips</b>	<b>\$0.00</b>				
<b>Tips: \$0.00</b>	<b>Gratuity</b>	<b>\$0.00</b>				
	<b>Grand Total</b>	<b>\$95.50</b>				
	<b>Avg Payrate</b>	<b>\$8.00</b>				
<b>Steckler, Gary</b>						
<b>Job Title</b>	<b>Pay Rate</b>	<b>Hours</b>	<b>Total</b>			
OC - Bartender	\$10.00	8.87	\$88.74			
	<b>Total</b>	<b>8.87</b>	<b>\$88.74</b>			
<b>Sales: \$0.00</b>	<b>Claimed Tips</b>	<b>\$0.00</b>				
<b>Tips: \$0.00</b>	<b>Gratuity</b>	<b>\$0.00</b>				
	<b>Grand Total</b>	<b>\$88.74</b>				
	<b>Avg Payrate</b>	<b>\$10.00</b>				
<b>Stremming, Diane</b>						
<b>Job Title</b>	<b>Pay Rate</b>	<b>Hours</b>	<b>Total</b>			
OC - Cook	\$12.00	50.50	\$606.04			
	<b>Total</b>	<b>50.50</b>	<b>\$606.04</b>			
<b>Sales: \$0.00</b>	<b>Claimed Tips</b>	<b>\$0.00</b>				
<b>Tips: \$0.00</b>	<b>Gratuity</b>	<b>\$0.00</b>				
	<b>Grand Total</b>	<b>\$606.04</b>				
	<b>Avg Payrate</b>	<b>\$12.00</b>				
<b>Support, Redfin</b>						
<b>Job Title</b>	<b>Pay Rate</b>	<b>Hours</b>	<b>Total</b>			
	<b>Total</b>	<b>0.00</b>	<b>\$0.00</b>			
<b>Sales: \$0.00</b>	<b>Claimed Tips</b>	<b>\$0.00</b>				
<b>Tips: \$0.00</b>	<b>Gratuity</b>	<b>\$0.00</b>				
	<b>Grand Total</b>	<b>\$0.00</b>				
	<b>Avg Payrate</b>	<b>\$0.00</b>				
<b>Unfried, Britt</b>						
<b>Job Title</b>	<b>Pay Rate</b>	<b>Hours</b>	<b>Total</b>			
OC - Server	\$6.00	14.85	\$89.08			
	<b>Total</b>	<b>14.85</b>	<b>\$89.08</b>			
<b>Sales: \$1,954.39</b>	<b>Claimed Tips</b>	<b>\$0.00</b>				
<b>Tips: \$204.35</b>	<b>Gratuity</b>	<b>\$0.00</b>				
	<b>Grand Total</b>	<b>\$293.43</b>				
	<b>Avg Payrate</b>	<b>\$19.76</b>				
<b>Wahnsiedler, John</b>						
<b>Job Title</b>	<b>Pay Rate</b>	<b>Hours</b>	<b>Total</b>			
	<b>Total</b>	<b>0.00</b>	<b>\$0.00</b>			
<b>Sales: \$539.03</b>	<b>Claimed Tips</b>	<b>\$0.00</b>				
<b>Tips: \$45.00</b>	<b>Gratuity</b>	<b>\$0.00</b>				
	<b>Grand Total</b>	<b>\$45.00</b>				
	<b>Avg Payrate</b>	<b>\$0.00</b>				
<b>Williams, Darryl</b>						
<b>Job Title</b>	<b>Pay Rate</b>	<b>Hours</b>	<b>Total</b>			
	<b>Total</b>	<b>0.00</b>	<b>\$0.00</b>			
<b>Sales: \$0.00</b>	<b>Claimed Tips</b>	<b>\$0.00</b>				
<b>Tips: \$0.00</b>	<b>Gratuity</b>	<b>\$0.00</b>				
	<b>Grand Total</b>	<b>\$0.00</b>				
	<b>Avg Payrate</b>	<b>\$0.00</b>				
<b>Willis, Jordan</b>						
<b>Job Title</b>	<b>Pay Rate</b>	<b>Hours</b>	<b>Total</b>			
OC - Bartender	\$10.00	16.07	\$160.66			
OC - Server	\$6.00	5.90	\$35.42			
	<b>Total</b>	<b>21.97</b>	<b>\$196.08</b>			
<b>Sales: \$2,368.80</b>	<b>Claimed Tips</b>	<b>\$0.00</b>				
<b>Tips: \$252.72</b>	<b>Gratuity</b>	<b>\$0.00</b>				
	<b>Grand Total</b>	<b>\$448.80</b>				
	<b>Avg Payrate</b>	<b>\$20.43</b>				
<b>Summary</b>						
Job Code	Total Hours	Regular Hours	OT Hours	Total Pay	Regular Pay	OT Pay
OC - Utility	99.33	99.33	0.00	\$794.62	\$794.62	\$0.00
OC - Dishwasher	51.15	51.15	0.00	\$448.40	\$448.40	\$0.00
OC - Cook	359.91	356.25	3.66	\$5,937.13	\$5,832.83	\$104.29
OC - Server	315.97	315.97	0.00	\$1,723.95	\$1,723.95	\$0.00
OC - Bartender	119.84	119.84	0.00	\$1,198.44	\$1,198.44	\$0.00
OC - General Manager	85.33	77.59	7.73	\$1,783.83	\$1,551.85	\$231.98
<b>TOTALS</b>	<b>1,031.53</b>	<b>1,020.13</b>	<b>11.39</b>	<b>\$11,886.37</b>	<b>\$11,550.10</b>	<b>\$336.27</b>